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- 1. Solve the initial value problem (20%)

X2y ~dxy' + 6y = xte”; y2)=2, y'Q)=7.

2. Solve the initial value problem  (10%)

YAy +5y"+2y =65(1), y(0)=y'(0)=y"(0)=0 .

3. Find the solution of the system AX =1 (15%)
-1 3 -1 1

and B =

1
0
where A = |
1

2 -1 -5

4. Find the general solution of the system by diagonalization. (20%)

X =3x ~x, +x; +12e"
Xy =X 4 X, = x; + 4cos(2t).

Xy =X, — X, -+ Xy +4c0s(21)

3. Find the Fourier series of the functiohi oh the interval  (15%)

fy=et for —m<x<r.

6. Solve the partial differential equation  (20%)

0y g9y

5 —5 for 0<x <4, ¢>0,
Ot Ox
y(O0,0)=y(4,0)=0 for 1>0,

y(x,0) = 2sin(zx) , %f (x,0)=0, 0<x<4




